HW 3.2 Key

1. Assume that X is a discrete random variable that can take on the following integer values: x=1, 2,3, 4,5, 6. The
distribution satisfies the property that P(X =x+ 1) =1.25P(X =x) forall x<5.Find P(X =5).
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2. | ot X be a discrete random variable with probability mass function given by f(x) = k(0.7)x forx=0,1,2,3,....

Find P(X =3).
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3. Let X be a discrete random variable that can take on values x=1, 2, ..., 8. Assume that the probability mass
function for X satisfies the expression f(x)= f(x—1)+0.01 forallx>1.Find P(x > 3) :
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4. Let X be a discrete random variable with probability mass function given by the following table:

X 1 2 3 4
p(x) 0.24 0.21 0.17

5 6 7 8
0.12 0.10 0.09 0.05 0.02

Find the probability that X is at least 5, given that it is greater than 2.
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5. Let X be a discrete random variable with probability mass function given by  f(x) =k (0.63)x forx=0,1,2,3,
Find P(X =25|X =3).
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